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Hanaute sHavyeHue norapupmos.

1)logs 25 =
2)logs 64 =
3)logs S =
4)log 25 5 =
5) log 81 3=

1) logs x = -1;
2) logx 81 = 4;
3) log 4 Xx=3

4) log x 125=3
5) log 121 x=1/2
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Bbluncnutb ncnosnb3yA
cBoucTBa norapundgpmoB

Ig8+Ig125=
lg4+1g25=
Ig20-Ig2=

log 4 8+log 4 2=
log 3 72-log 3 8=






Hanaunte obnactu onpeaeneHus
byHKUUNM:
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BbIHACIIUTE SHAYEHUE BbIPAXEHUA:

6185 1 100'eV8



PewnTte ypaBHeHue

1) log 13 (2x-1)=-2
a)5; b)3; d)4

2) 10go,2(2x+5)=1
a)-3,4; b)-2,4; d)2,4
3) logz(4-x)=0

a)0,5; b)1; d)3






PewwnTe HepaBeHCTBO

1.1092(x-4)<2
2.10g3(x+2)<1
3.10g0,5(3-2x)>-1



